INDIAN SCHOOL AL WADI AL KABIR
DEPARTMENT OF SOCIAL SCIENCE
PRE-MID TERM EXAM- 2025-2026

SET-2
Class: IX Max Marks: 30
Date: 20/05/2025 Time: 1 Hour

General Instructions: -

1. Question paper comprises THREE Sections — A, B and C. There are 17 questions in the
question paper. All questions are compulsory.

2. Section A - From questions 1 to 10 are MCQs of 1 mark each.

3. Section B - Question nos. 11 to 16 are Descriptive Answer Based Questions, carrying 3
marks each. Answer to each question should not exceed 60 words.

4. Section C- Question no. 17 is map based, carrying 2 marks -Geography.

I SECTION A MARKS
MCQs (10X1=10)
1 Abbe Sieyes wrote an influential pamphlet called 1
A. The three estates.
B. What is the third estate?
C. The Estate general.
D. None of the above.
2 What does the image signify? 1

e —

A. Colour in the flag of France

B. The third estate

C. The symbol of freedom from slavery
D. The symbol of knowledge

3 The Marseillaise song which became the national anthem of France was 1
composed by
A. Roget de L'Isle.

B. Montesquieu
C. Jean Jacques Rousseau
D. John Locke.

4 In the questions given below, there are two Statements marked as Assertion 1
(A) and Reason (R). Read the Statements and Choose the correct option:
Assertion (A): On the Morning of 14th July 1789, the city of Paris was in a
State of alarm.

Reason (R): Some 7,000 men and women gathered in front of the town hall
and decided to form a people’s Militia.
A. Both (A) and (R) are true and (R) is the correct explanation of (A)
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B. Both (A) and (R) are true but (R) is not the correct explanation of (A).
C. (A)is correct but (R) is wrong.

D. (A) is wrong but (R) is correct.

Which one of the Indian island group lies to the South West of India?

A. Maldives

B. Srilanka

C. Andaman and Nicobar Islands

D. Lakshadweep Islands

My friend hails from a country which does not share land boundary with India.

Identify the country.
A. Bhutan

B. Bangladesh

C. Tajikistan

D. Nepal

What does 'Bigha' and 'Guintha' refer to in the context of Village Palampur?
A. Types of hybrid seeds
B. Measuring units of land area
C. Types of village houses
D. Measuring units of grain
Choose the main reason why farmers in Palampur are able to grow three
different crops in a year?
A. Availability of efficient labour
B. Fertile land
C. Well-developed system of irrigation.
D. None of the above
Which of the following is NOT a fixed capital?
A. Turbines
B. Tubewell
C. Fertilisers and pesticides
D. Farm machinery
Consider the statements given below and choose the correct answer
Statement I: Every production is organised by combining land, labour,
physical capital and human capital
Statement II: Knowledge and enterprise is an example of human capital
options:
A. Statement | is correct and Il is incorrect.
B. Statement | is incorrect and Il is correct
C. Both | &Il are incorrect
D. Both | &ll are correct
SECTION B

DESCRIPTIVE ANSWER BASED QUESTIONS (6X3=18)
The sun rises two hours earlier in Arunachal Pradesh as compared to
Guijarat in the west but the watches show the same time. How does this
happen?
Describe India’s geographical location, including its latitudinal and
longitudinal extent.
Explain the features of the Constitution of 1791.
Describe the directory rule in France. What was the reason for their failure.
‘Land being a natural resource, it is necessary to be careful in its use”.
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Explain the statement in relation to the Green Revolution.
What are the key differences between traditional and modern farming
methods?
SECTION-C

MAP SKILL BASED QUESTION (1X2=2)
On the given outline map of India, locate and label the following;
A. Tamil Nadu
B. Neighbouring Country, Bangladesh
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